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FREOSH2FE/A14BORKRETAREE

KZBEIE, ERMES A FIZLDEAD,

kY IPEZO) SHTED EYPEZO) SHTED kY IPEZO) SHTED
= (&/8) *f = (&/8) *f = (&/8) *f
X \ ) 7A14A(K) 7E168(K) B4R 7A14A(K) 7E168(K) B4R 7A14A(K) 7A16E(K) R
No 5 EERFR A BARE EEA %E% %E% %E%
(£28) (25H) [£#] UNRE) UNRIER) [/hEIE] (KRH) (KRH) [KFI&H]
1 BHIE E1E% B ~ = FICT 68.200 76,800 89% 43,300 53,300 81% 24,900 23,500 106%
2 BHIR . Sma s =7 58,500 67,600 87% 42,300 49,700 85% 16.200 17,900 91%
3 BHIE . P — 39,400 56,200 70% 25,500 38,500 66% 13,900 17,700 79%
4 BHIE EIAB B, 5 5 ~ # E EUCT 38,200 42,100 91% 14,500 19,900 73% 23700 22,200 107%
5 BHIE EIAMBE SE~ 2 EEEICT 91,800 101,800 90% 50,100 66,300 76% 41,700 35,500 117%
6 BHIE E23H & IR 2,5 B ~ BT 53,900 63,000 86% 42,000 49,700 85% 11.900 13,300 89%
7 — 1458 BT~ BEPE 54,700 62,200 88% 32,600 39,500 83% 22.100 22,700 97%
8 B ER 145 EERT—~BYE 32,800 38,100 86% 15,200 20,300 75% 17.600 17.800 99%
9 B ER E1orhskis BB~ i 31.100 36,900 84% 16,800 22,800 74% 14,300 14,100 101%
10 I I8 ... e 11.900 15,300 78% 8.100 12,000 68% 3.800 3,300 115%
11 Iz B2 12 CIEEIEkE HEOH ~ TIBRZE 11.300 16,600 68% 1,600 11,800 64% 3.700 4,800 77%
12 =g8 R — BEEE~BRES 66.200 75,500 88% 28,800 39,000 74% 37.400 36,500 102%
13 =E8 1AL 26 P — 35,000 44700 80% 9,800 15,800 62% 26,100 28,900 90%
14 =g8 EEAE 0 i~ S 49,000 56,000 89% 29.200 33,800 86% 20,700 22,200 93%
NEXCO £5t 46.000 53,800 86% 26,100 33,700 77% 19,900 20,000 100%
15 BHE =) -2 44,200 48,900 90%
16 BAR 28BS W -EE 38.900 43600 89%
17 BHIE JEXSE EE-S5t 69,400 79,500 87%
18 P BHIE 4B EEE AEI-REE 82,300 37,400 86% _
19 BHR 5275184 185 A% 37,000 43,200 86% oAV ICEHERERER
20 BHIE 6B A FE PR3 - B BT 48,800 54,700 89%
21 BAR 1B N J1TE 9 46.100 48600 95%
22 BHIE l6E—mig —m —mEE 55,500 60,600 92%
LZHERE®R £t 46,500 52,100 89%
FRE e 46,200 53,200 87%




